OomRonN

Panel mount plunger

ZAQ-2
7.9 dia.
T 1.9R* K
s Mounting screw
M12P = 1
Hexagonal nuts
(2t x 14 width across flats)
OP I
42.8
X 1.69 Lock nuts
1.6 (gf"gg)-q .59 (2t x 15.6 width across flats)
(0.06) 14,5 dia. +0.2
] _ 3
20.7
226 24.2 Two M4 x 25
(0.81) e i wo
¥ (0.89) (0.95) —
** 435 254+0.2 4 Two M4 nuts
le—52.4 (2.06)——»] (0.81)
*Stainless steel plunger
**X-10G-

Note: Unless otherwise specified, a tolerance of £ 0.8 mm applies to all dimensions.

Panel mount plunger

ZAQ-1
o
v -
1 C:k 11.9R
MOggung screw
=1
N Hexagonal nuts
oP r (21 x 14 width across flats)
== Prk] 428 g Lock nuts
16 (0.92) (1.69) (2t x 15.6 width across flats)
. 45
(0.05) 145 dia.+0.2
20.7

T Two M4 x 25

]
22.6 24.2
(0.81) (0.89) (0.95) 5 1 af
*% (135 254402 L g Two M4 nuts

20.7 )
l—52.4 (2.06)—»J (081"

*Stainless steel plunger
**X-10G-B

Note: Unless otherwise specified, a tolerance of £ 0.8 mm applies to all dimensions.

AP-A (for solder terminal) AP1-A (for solder terminal) AP-B (for screw terminal)
| 52.8 (2.08) | |.‘___544(215)_.____>J 53.8 (2.12) .
+0. 2(0.01)}e—25.4 (1 4.3 +0.2(0.01) 43 +02(0 01)}a—25.4 (1) —»| +°2(° o) | a3 +02(0.01)
(04137)_0 ( )j' 0.17)-0 ©in-o |‘—‘ 1017) (041:’;;8 .2(0.01)[+—25.4 (1) (017) 0
T T [} ] T T
! T s ' ¥ 174 ; 1 5 |
Y 163 W P L (067) Y . Y 202
" p 0.64 5 — " . -
Lo .ﬂ— 27R ---"ﬁ——rs-“ ( ' ) L [— 2150 Jr2das) L r 2.15R '] (0.80)
(0-25) e f]],{_,_,,, ) 6.45 l
Y (0.25)
————— —t——— t TR
{r= . ] R ! ~ ( DY)
3 Ty o U e
e oo : S~ — S D)

952 Snap Action Switch Z



AP1-B

|e———55.4 (2.18) — |
+0.2 (0.01)}w— 25.4 (1 43 +0.2(0.01)
(o.ﬁ% -0 24—~ (g47)0

1
|
'
1
'

OMmROoN

AP-Z
Patch (1t
21 aTwp( ) lq——-53(2.09)—ﬂ
_(0_83).|/ 42dia.holes |25 (1)
X )\ 7 (0.28)
|| 14 Y &
v \ / } I
(0.83) 46
-~ l ¥ g9 (181)

g M3 x 20 pan head / } (1.54)
Screw
~ LA l
—£5t ¥ Polyviny!
(with plane washer nut)

12 fe— 12—
1adl (0.47

(0.55)

w >

Note: Unless otherwise specified, a tolerance of £ 0.4 mm applies to all dimensions.

Bl Cable Outlet Dimensions

A-A section

14 . H
(0.55) 8 dia. +

I 1D

B-B section

Note: The cable outlet is provided with two stepped openings (6 dia. and 8 dia.) to permit the use of either opening according to the finished OD

of the cable to be connected.

Precautions

B Correct Use

Mounting

Use M4 screws with plane washers and spring washers to mount the
Switch. Tighten each mounting screw securely to a torque of 1.18 to
1.47 Nem {12 to 15 kgf * cm}.

Panel Mount Switch (Z-1501Q, Z-01[1QLJ)

When mounting the panel mount plunger model with screws on a
side surface, be careful of the dog angle and operation speed.
Excessive dog angle or operation speed may damage the Switch.

The Switch can be panel mounted, provided that the hexagonal nut
of the actuator is tightened to a torque of 2.94 to 4.9 N  m {30 to 50
kgf » cm}.

When using the panel mount plunger model mounted with screws on
a side surface, be careful not to apply a large shock. Applying a
shock exceeding 100G may damage the Switch.

When using the panel mount plunger model mounted with screws on
a side surface, remove the hexagonal nuts from the actuator.

High-sensitivity Switch (Z-15H)

When using the Switch in a DC circuit, be sure to provide an arc sup-
pressor as well because the small contact gap of the Switch may
result in contact troubles.

In an application where a high repeat accuracy is required, limit the
current that flows through the Switch to within 0.1 A. Also, use a relay
to control a high-capacity load if the Switch is connected to such a
load. (In this case, the exciting current of the relay coil is the load of
the Switch.)

Do not apply a force of 19.6 N {2 kgf} or higher to the pin plunger.

Exercise care that the environment conditions such as temperature
and humidity do not change abruptly.

Drip-proof Switch (z-[155)
The Switch is not perfectly oil-tight; so do not dip it in oil or water.

The rubber boots are made from weather-resistive chloroprene rub-
ber.

Do not use Basic Switches in places with radical changes in temper-
ature.

Flexible Rod Switch (z-150INJ[J55, Drip-proof)

When the rod is fully swung, the Switch may operate when the lever
returns, causing chattering. Use a circuit that compensates for chat-
tering wherever possible.

Do not switch the rod to the fullest extent when the Switch is to break
a power circuit because such a practice may cause metal deposition
to occur between the mating contacts of the Switch.

Snap Action Switch Z 953



Others

Do not apply an excessive force to the mounting bracket with a
screwdriver or a similar object when attaching or detaching the pro-
tective cover; otherwise, the cover will be deformed.

‘«—— Screwdriver

This terminal protective cover cannot be used with models whose
model number does not have the prefix “-B5V.”

Terminal protective covers can be ordered separately for mainte-
nance use.

OomRonN

954 Snap Action Switch Z





